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Section 1 - General Knowledge

1) Gol Gumbaz is situated in Bijapur district of 1) T &t 36 57 % AT o | R 87

A) Odisha A) Ffam

B) Andhra Pradesh B) =trer w@er

C) Karnataka C) FHT=®

D) Bihar B)REFARS

2) Find the odd one from the list given below, find 2) &= &t 7 T | & 'SHTA ST FHITo1T, ITH & Fie AT
which of them is NOT a twin city?

TET JEAT AL & A1 712
A) Ahmedabad, Gandhinagar A) FEHETETE, TETT
B) Kochi, Ernakulam B) &y, TATTaH
C) Hubli, Dharwad C) gaett, aaTe
D) Ranchi, Bhilai D) Ti=t, fo=rs

3) Who among the following delivered the famous 3) Ferfertaa # & e wfag "Fata @ ararar (B

"Tryst with Destiny" speech? EEEESURIEER IR ER R I
A) Jawaharlal Nehru

A) STATETAT &=
B) Rajendra Prasad B) TTeivz TETE
C) Vallabhbhai Patel C) FoeTs TS, Uee
D) Mahatma Gandhi D) WETeRT et

4) At a young age, famous revolutionary Jatin Das 4) T# &g FTATT ST 219 (At 97 T19) Ter

( Jatindra Nath Das) was a member of which of the ¥ & Fferfea et & & 59 T37e9 & UF a2 472
following organisations?

A) Hindustan Republic Army A) TEgeam Rafsar et
B) Anushilan Samiti B) srefier= orfwfe

C) Azad Hind Fayj C) 3Te 22 wier

D) Home Rule League D) T8 & &1
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5) Which of the following plants, flower only once in 5) FHEIIT & & Fi9 AT GT&T A9 S99 | FaT UF TN

their life? T AT 52

A) Monocarpic A) FTATHTLOF
B) Polycarpic B) TretrehT< i
C) Perennials C) W= e

D) Lilies D) ferett

6) Which among the following is a book written by 6) F¥eTEd T&EaA®T § & FI7 &T HZTeHT e FT forEr
Mahatma Gandhi in which he declares that "The force = Z S@® 3= #&r o1 & W @i F=om #ir

of love and pity is infinitely greater than the force of oTf<F ZfIATI & SATET ATHFAAL 3T TRTH BT 2"?
arms"?

C) Hind Swaraj

A) Fra =fem frae
A) Glimpses of World History B) W= #¥ &t
B) The Discovery of India C) Bz w=wrsr
)

D)  WTZE UUE T2 F2le
D) The Mind and Its Control

7) Who among the following became the first Indian 7) & 5T FRTET * AFATEH | qo° defordeT
in over two decades to claim a gold medal at the Iffuz=fora 2017 & T 9g% FT (AT FIA FT
World Weightliting Championship 2017 in Anaheim, i & & 19 a7 2211 | AT WA TAT?

USA?

A) Santoshi Matsa A) FATHT g7

B) Khumukcham Sanjita Chanu B) GHFAH HSiid AT
C) Sakina Khatun C) Tt =TT

D) Saikhom Mirabai Chanu D) TEE® HiTaTs AT
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8) As per the Constitutional provision under Article 8) WTIRATT HTELTH & A=z 244 (1) ¥ Tgd Ga4T=F

244 (1) of the Constitution of India, an area can be WTFLTH F JAAATT, THEF AT H UF & FT AT &
declared a 'Scheduled Area' by the order of the o AT ST Thar 22

A) Attorney General of India

A) AT F HETATTATE

B) Vice-President of India B) WA F IUTgUa
C) Prime Minister of India C) AT F TITHHAT
D) President of India D) AT % Tgai

9) Increased growth of algae and aquatic weeds and 9) SraTeT 3i¥ Sttt A=d FT Fog 3 o ITF T+ FTE0T

their subsequent death results in decrease of oxygen 9THT & TSI T HTAT F7 2 SATAT F1 TH FTLOT H GISA
in water. This makes potable water unfit for STINTF TFT A5l T FATAT Z| TH T(HAT T FAT FET ATAT
consumption. This process is known as: 7

A) Bio-magnification A) ST-ATTET

B) Accumulation B) #=I=

C) Eutrophication C) a9

D) Pollution D) 9guor

10) Which of the following countries displayed its first 10) fFrferfa e Zor 7 oo e S = RRa s
unmanned combat helicopter AV500W for foreign F ST & YHTT FT T2 F 94T | fFreefy @fem o
buyers in a bid to enlarge scope to market its military 99T 9gaT AEET F¥ee grerdies AV500W Tafdfa

drones abroad? T2

A) France A) T

B) Israel B ESERE
C) China C) =

D) Russia D) ==
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Section 2 - Logical Reasoning

11) Three of the four numbers mentioned below that 11) F= ¥ T AT H=ATH & & A1 UF 27 a9 F HateT

belong to the sameclass. Find the odd one out based | HEAT3H FT THIT F ATLTT IT ZAH & HTT AT H {70
on the nature of the numbers.

A) 12 A) 12
B) 24 B) 24
C) 36 C) 36
D) 25 D) 25

12) Select the option that will make the second pair 12) 3% fa&eq T 97 F< ST O SIIST FT At SIT=T

analogous to the first pair. F THET AT

Zakir Hussain : Tabla :: Vilayat Khan : ? AT g : qaer : fAaaa & : 2
A) Bharatnatyam A) FTaATEH

B) Flute B) =riet

C) Sitar C) A

D) Guitar D) fre®

13) 200% of 1800 - 12=7? 13) 1800 T 200% - 12 = ?
A) 1290 A) 1290

B) 3588 B) 3588

C) 3444 C) 3444

D) 1280 D) 1280
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14) Among five friends, Joe scores 20 marks more 14) 9= &1 | &, T (Joe), TH &= =& F7 3119 50
than Sam, who scores the lowest i.e. 50. Anil scores 3% ITH T, T TAATH 20 3F ATAF T FIAT 3| AT
80 less than Gaurav, who scored the highest marks 7 Tea® 80 3=/ 9TH 0 o1, o= 3gaw 3% 200 9T
i.e. 200. Hiten scored third least score. Which among 3| f2a= & e =& #7 &% are &) o o e
the given options may be the marks scored by Hiten? & & f2a9 g1 9T 50 70 i #1979 21 %4 37

A) 70 A) 70
B) 90 B) 90
C) 20 C) 20
D) 60 D) 60

15) A medical representative's income consists of his  15) T =freaT gra e #1 ara § 39 qries 99+ 07
monthly salary and commission. His commission for FHTT oTTHe 2| SHHT UF HE A FT FHIIE I oA F

a month is 3/4th of his salary. If his total monthly 3/43T AT F| ST IEHT Fo1 ATEF AT T 21,000 7, AT
incomeis Z 21,000, the commission earned by him is 3% gTeT AT FH 9 A=t 82

A) ¥ 22000 A) ¥ 22000

B) 9000 B) 9000

C) 12000 C) ¥ 12000

D) % 28000 D) % 28000

16) What is the next term in the given series? 16) =T T2 @A | STTAT HEAT FT 572
The series is 2025, 1936, 1849, 1764, ? TQ?’IT% 2025, 1936, 1849, 1764, ?
A) 1681 A) 1681

B) 1685 B) 1685

C) 1525 C) 1525

D) 1571 D) 1571
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17) Select the option that will make the second pair 17) 3% fa&eq T 997 F< ST TAT SATST Kl Tgat STl

analogous to the first pair. F THET TAT

Bastar : Chhattisgarh :: ltarsi : ? TEAT : BRATHRE 12 TETEHT 2 ?
A) Arunachal Pradesh A) TEITFT T29T

B) Uttar Pradesh B) 39¥ Y=9T

C) Uttarakhand C) 3TaEs

D) Madhya Pradesh D) HeT g2oT

18) What is the missing term in the given series? 18) =T = AT | ATAEAT HEAT FT 572

The series is 961, 841, ?, 361, 289 T &: 961, 841, ?, 361, 289
A) 578 A) 578
B) 780 B) 780
C) 529 C) 529
D) 774 D) 774

19) Pointing to a manin the photograph, Jeet, who is 19) == & T =< & ¥ 39T F4 g0 S0, ST TH
a male, said, "He is the only brother of my mother". T¥W g, TF2T, "8 AT HT FTTHATAT ATS 5| ST 39 Al

How is Jeet related to that man? T 9 IFTe gataa g2
A) Father A) faar

B) Niece B) sisft

C) Nephew C) A1=IT

D) Brother D) W
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20) Identify the next figure in the sequence. 20) =oft § RTeT ATFi FT Tg=TH F2)

B q"
—— E‘
B) h B)
E
e
C) C)
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Section 3 - General English and Comprehension

21) Identify the part of the sentence that has an
error:

23) Choose the correct word substitute for the

following sentence:
The chairs were occupied by the guest when the

A nation or person engaged in war or conflict as
program began.

recognised by international law

A) were occupied A) Belligerent

B) when the program began B) Bilateral
C) The chairs C) Separatist

D) by the guest D) Army

22) Choose the meaning of the italicized idiom 24) ldentify the Antonym for the word - Refute

used in the given sentence.

A) Deny
A good marketing manager mustbe able fo think B) Use
on his feet to take the business to new heights. ,
C) Misuse
A) to avoid risks
D) Approve
B) adjust quickly to changes and make fast
decisions
C) adjust to frequent shortages of goods and
—— 25) Identify the synonym forthe word - Foolhardy
D) to do all odd jobs A) Silly
B) Rash
C) Clever
D) Impudent
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Section 4 - General Hindi
26) ‘FEAT oTeT FT I T ZTT - 29) 4= =T T 9 For -
A) T AT ATATTT L ... AT qET AT
B) T INEILED)
C) T+ B) o
DERIK C) T
D) s
27) Faforfa & | F17 &7 FIT 5% T AT
THl 87 30) ‘& THAT FT FI7 AT 9 272
A) fo=F A) THEATAF
B) " B) HTEaTER
C) ®itwer C) StTftaam ==+
D) Fre=tt D) sAf~FaT=+

28) Heradi F HEt o¥F # fAemw fivw -
Hgraa ard

1. 9TF ST FEAT |2, TgT F8F g gEr

2. FET AT b. UIT T FLAT

3. TR FFAT  |C. FAF AT

4 Feerat 3T |d. T2 39 F gFAT

A) 1-a, 2-b, 3-c, 4-d
B) 1-d, 2-a, 3-c,4-b
C) 1-¢, 2-a, 3-b, 4-d
D) 1-b, 2-c, 3-d, 4-a
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Section 5 - Basic knowledge of Computer

31) Which of the following are the products of MS 31) =T & & #:19 MS-ATHH T2 F Mo &

Office suite? . €

l. Word Il. stieer

Il. Oracle M. o=

lll. Access

A) | and Il only A) FFe | Tl
B) I and Iil only B) et | el
C) I, Iand I C) I, Il =i
D) Il and Il only D) =t Il Sl

32) Shiftkey and Print Screen keyin a computer 32) #=e¥ e # forge siiw fie wfie it %1 1 %2y

keyboard are known as o

A) Special purpose keys A) TITET qIF FIT
B) Standard keys B) ¥e fiwr

C) Navigation keys C) aferro= s
D) Function keys D) et T

33) Which of the following OSI layers is meant for 33) fFaferaa & & e OSI AT F X9 & TETHT

translating, encrypting and compressing data? FTATE, TIeweerd 3T FIEeE AT rar g ?
A) Network Layer A) F=TF T

B) Session Layer B) T 4%

C) Presentation Layer C) IS 7%

D) Application Layer D) TS 137
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34) Which of the following statements is TRUE for a 34) w# #T=(3fer€) =-041 ams=t (email id) ¥ oo

valid email address? e & & F19 a7 FI9 781 52

A) Email addresses are not case sensitive A) THA AT FH ATOeT Aol &

B) Email addresses are not unique B) SH AT IAF A5 &

C) Email addresscan have hyphen as a first C)3Ha WSS & 98l AT & €T | ZISHA &1 TINT
character T STaFars

D) Spaces are allowed between characters in an D) THT AZH | A & 1= T4F & ST AFAT

email address

35) Each of the 4 parts of an IPv4 address is always 35) IPv4 TSH T I4%F 4 AN gHAT UF HEAT 2T 3

anumber in the range of IREEARERE R e G e R 21 e

A) 0-255 A) 0-255

B) 0-256 B) 0-256

C) 1-256 C) 1-256

D) 1-255 D) 1-255

36) The class of an IP address 14.23.120.8 is 36) 14.23.120.8 IP TZ® T vt FT Z(T 2
A) Class B A) Zoft B

B) Class A B) #ft A

C) Class D C) #Ivft D

D) Class C D) #ft C

37) In which of the following access technologies do 37) fRrferiaa & & f5e TaET @ISt § =90 J=eT il
the stations share the bandwidth of the channel in SETEaES FT TRF-FHTAT H ATAT FI7 57

time slots?

A) FDMA A) FDMA
B) CDMA B) CDMA
C) TDMA C) TDMA
D) DDMA D) DDMA
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38) Which of the following input devices utilizes a light 38) FHEA TAYE SUFIUN § ¥ i T ThiT 9T
sensitive detector to select an object on a display fsaae FT FI9 F24 F 10 UF Tah1er Fagasfier Reses

screen? FT ITIRT FLAT8?
A) OMR A) STHAT

B) Light pen B) ®Tz= U=

C) Scanner C) =Y

D) Printer D) f¥ex

39) What is the use of Drop Caps feature in a MS 39) MS aE STaHe | T FT FH TEAHTA [HIT ST

Word document? 7

A) To drop all the capital letters A) Tt F e e Fr T F1 F o

B) To begin a paragraph with a large dropped initial ~B) TT¥RITE # (&= a2 Tie TATATAA Fi0ed et +
capital letter TqTT FIA % o1 |

C) To automatically begin each paragraph with C) Se3 UTETUTE T AeTH (e 9 T FiUee oad & ar
capital letter 9% F % for

D) To automatically begin each paragraph with small D) Sea= 9T¥TUTE F1 A (A &F T T THI 72H + a1
letter 9F FIA % oI

40) For reading a candidate’s choice in multiple 40) FgaHieds AT § ITHIEATT F F99 FT T2 + 010,
choice questions, which of the following input devices AHATY 9T FHAIET ® & & 394qe =AT=H 1 399

is generally used? IERIS 1

A) Magnetic Ink Card Reader A) TufeF TF FE =7
B) Optical Character Reader B) Hiftesher e fIe¥
C) Optical Mark Reader C) i fea=er 7T+ fiex
D) Bar Code Readers D) I #IE {27
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41) What is the functionality of 'Transpose' option 41) ATZHIH % TFHT 2016 F Uee FULTT STANT 19 |

included in the 'Paste Special' dialog box of MS Excel et Zieare fased 1 F13 Iu=iar #4722
20167

A) It changes the orientation of the copied range A) TZ FIUTIT F ATFTE=TH () FTaeaadaT 3

B) It is used to copy only formatting B) ZET YA el BITHTET =T 19T = forw 3 smar
C) It is used to copy everything except the formatting g

D) It is used to merge conditional formatting from ) T ST HITHTET T T T Feg FT H2 6
source to destination fore T st g

D) THHT IUFNT TTH H SEIFIT TF e 1977 FIHET
T [T a1 7 w7 F ore v smar g

42) Which of the following is a cloud storage service 42) ATSHIHTFE ZET T&TH i T2 FATIE T4 AT (FH H

provided by Microsoft? q HAHZ?

A) iCloud A) T3 (iCloud)
B) OneDrive B) s=gT=a (OneDrive)
C) IDrive C) amsgrz4a(IDrive)

D) Dropbox D) giuams (Dropbox)

43) Which of the following malwares is used by an 43) &t @2z F g7 Fwoaa & 7 & Goraae =1
attacker to get unauthorized remote access to a PC Z¥IHTA HTAT FHSAMAT FT HIAET ISTHL TF G 9T

by exploiting security vulnerabilities? FATArFd RTe THE T F3 & orw (o631 Srar 272
A) logic bomb INEUSEELRS)

B) back door B) 8% 2T

C) Poverty C) urardt

D) Self-replicating D) & Tfeareher
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44) Which of the following statements is FALSE about 44) THUH g€ A{9ad¥ & qT< | [FHAET § & FiF 9T

MS Word software? FATTAT G2

A) MS Word software can create, edit, save andprint  A) MS 3 di%ead¥, TIFHE T TEATAA (#U2, Uiee,
documents AT AT e FTasq1s

B) MS Word software can insert elements fromother B) MS a€ A{%aaT #+T H%adY ¥ UCMHeH 6 F¥
software, such as illustrations or photographs THAT 2 S 3 T AT B ITH

C) MS Word software cannot correct spelling and C) MS € H{Ueaa¥ FAT 3T SATHIUT F T3l T3l FT
grammar ET IS

D) MS Word software can format text, such as font D) MS a2 Hi%ead cae il BITHE FL TFAT 3 ST FlE
type, make the text bold, underline the text and ST FT THAT 8, T T qI0€ FL qFAT 8, S &l
italicize the text FSTATEA FT THAT g 3T THS Fl Ze(oM@Tad T

AFATE

45) QWERTY keyboard design was originally 45) QWERTY &1 q=1 &7 & 3 forw fewme=r G

intended to a17?

A) Make typing harder and inefficient A) ZT=OT 7 F5T 3T S@ew 977 F o
B) Improve the typing accuracy B) =TT §[&AT F&T & o1

C) Make typing more efficient C) T IHRT T < T FATT % o1

D) Improve the typing speed D) =T=fuT &fie Jem= + forw

46) Which of the following types of attack 46) % & & 3 YT FT AeF (FHAT) AeHH (FHATAN)
allows attackers to inject client side script into web T 1% ATz & 1 3= I57 # Toiwe FTT FT ATAHA

pages? qTE?

A) Cross Client Scripting A) FE FATSE AT
B) Cross Site Scripting B) & #Tze fHRfeeT
C) Cross Server Scripting C) e g fewfear
D) Cross Sort Scripting D) e @t femfeeT
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47) In MS Excel 2016, what is the result of the 47) MS T 2016 ® FA=ferEd wigaT &7 FT TR0

following formula? AqATE?

~AVERAGE(10, 20, 30, 40, 50) ~AVERAGE(10, 20, 30, 40, 50)
A) 30 A) 30

B) 150 B) 150

C) 50 C) 50

D) 10 D) 10

48) A device that is connected to a computer but it is 48) T THT RATH ST FET F FARET ZrATE ATHT FIT
NOT part of the core computer architecture is known F=ET ATTHeFAT FT AT Tol &, FAT FEATAT 872

as

A) Processing Device A) ST Rarze
B) Memory Device B) 7w & Rarzw
C) Peripheral Device C) ufveer A=
D) On-board Device D) siq-a1E Rar=a

49) In MS Excel 2016, what is the result of the 49) MS T#&= 2016 | HHTIET HIHAAT T FT IO

following formula? AqATE?

=Min(10, 20, 30, 40, 50) =Min(10, 20, 30, 40, 50)
A) 40 A) 40

B) 50 B) 50

C) 10 C) 10

D) 20 D) 20
50) In printing, what does DPI stand for? 50) fSifEa = "2t & DPI %7 T 31 272
A) Digital Pixel Integration A) =fREs Fae Sedmm
B) Dots Per Inch B) Sfe@ W =H

C) Digits Per Inch C) Rftea =

D) Dots Pixel Inch D) =fed fUemar ==
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Section 6 - Electrical Engineering

51) How many positions are placed in prisms withits 51) &t T8 (CAD drawing) 9 3= &Y (39) F

base on horizontal plane (CAD drawing)? T fos & AT SEeaTell § T Arar 87
A) Two A) T

B) Four B) =T

C) None C) #rs &t

D) One D) T=

52) A generating station has a maximum demand of 52) T o= IraTa+ Ta= FT ATFAH T 25 MW, 7
25 MW, load factor of 60%, plant capacity factor of F&e¥ 60%, I3 AHAT FTF (W FUTHT Fae?) 50%

50%. The Plant Capacity is 21 AT AT ¥ AT FATZR?
A) 30 MW A) 30 MW
B) 45 MW B) 45 MW
C) 25 MW C) 25 MW
D) 50 MW D) 50 MW

53) Assume six devices are arranged in a fully 53) #T9 & & ®g RaT=Hl #1 T 978 T AT Her
connected mesh topology, how many input output Zrarerisit & srafeaa frar &, a1 g Rarsa ¥ oo
ports must each device have? {3 ZAYE ATSTYE TE T AFLTFAT 22

A) 6 A) 6
B) 5 B) 5
C)7 C)7
D) 3 D)3
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54) Induction type single phase energy meter 54) YT T THeT ol Sl HicT | (A=A To(l 1 AIGH

measures electric energy in = 2T 2?2

A) ampere hour (Ah) A) T &7 (Ah)
B) kilowatt-hour (kWh) B) feirame-ataw(kWh)
C) kilowatt (kW) C) FreiraTe (kW)

D) volt-ampere (VA) D) Free-uftage (VA)

55) The input devices in CAD can be divided into: 55) CAD ¥ =AYz Rarew #1 = e § @ A= afoat

H ferariorg BT i aar g2
A) 3 categories A) 3 ST §
B) 2 categories B) 2 Aforai |
C) 5 categories C) 5 Afur |
D) 4 categories D) 4 =fvr o

56) Wireless personal area network (WPAN) is a 56) ama¥e® 98°e URAT dea% (WPAN) T% =f<F %
network of wirelessly connecting devices around an FTI&= % I 1 m ¥ &€ 100 m TF F AT
individual person's workspace ranging from 1 m to FA{#e a2 FT UF J<a# gl WPAN ¥ o0 IEEE

100 m. The IEEE standard for WPAN is AT FATE?
A) 802.10 A) 802.10
B) 802.1 B) 802.1

C) 802.11 C) 802.11
D) 802.15 D) 802.15
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57) The yearly load duration curve of a generating 57) T o= Sefew =ore FF AT A AT T TF
station is considered as a straight line from the HTeft 3@t WTHT SATAT &, Af&Faw 9w 30 MW & =Fa9
maximum load of 30 MW to the minimum load of 20 HTT20 MW @\ =8 =i &t &7aT1 35 MW g1 77 S0+ 91T
MW. The capacity of the plant is 35 MW. The load =TT, T &THAT FTLF AT STTNT FTLFH FH: FATE?
factor, plant capacity factor and utilization factor

respectively are

A) 0.833, 0.714 and 0.557 A) 0.833, 0.714 3T 0.557
B) 0.833, 0.714 and 0.857 B) 0.833, 0.714 37 0.857
C) 0.333, 0.714 and 0.857 C) 0.333, 0.714 3fir 0.857
D) 0.833, 0.314 and 0.857 D) 0.833, 0.314 37 0.857

58) High moisture (water) content in oil used in 58) TTARHTH TEAHT [T ST ATl 97 | 37 AHT (AT
transformer will: £ 7=

A) Improve its voltage regulation A) THF qTees [ATHTHT | AT F AT
B) Save the transformer core from being rusted B) STHRIHT o AvAAT T ST o919 & TN

C) Reduce dielectric strength of oil and lead to C)de T TTATATaF 9T FT FH FL AT 3T FAMAET
flashover T FETAT 2 AT

D) Reduce its density D) Z¥% I T FH FL a1

59) The cost of generation of power is the lowest 59) F9 A ATeT faI=(t & 3edqTe * forw, SrzafEer

when diversity factor is ey ZHT AT 2T AR U?
A) the highest INEEEEIPET

B) between 0 and 0.5 B) 0 05F =g d

C) between 0.5 and 1 C)0.5 iT1F = d

D) the lowest D) &9 FH
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60) A Galvanometer can be converted to Ammeterby 60) T feaqTH e H T 5 THTL TTEHT THIETH qaT

connecting T ST aFaT 872

A) low resistance in series to the Galvanometer A) fearHTeT % a1 B § 9 9faag w71 st
B) low resistance in parallel with the Galvanometer ~ B) feamTH12% 3 THTATAT F7 AL FT TSHT
C)very high resistance in parallel withthe C)feamiHie % THTATAL g 3 AL FT TEFT

Galvanometer D) #eariex F arar ffrie & 3g vy 1 Sfewe

D) high resistance in series to the Galvanometer

61) Flame proof motors are designed for 61) FoIH TF HIL FT ST AT AT 8

(i) explosive atmosphere (i) Ferepe s araraor = for

(i) moisture free atmosphere (i) SATEAT T ATATALT F 1T

(iii) dustfree atmosphere (i) & TF ATATAYOTF forw

Select the CORRECT option from the given options. [T T fershedi § & &1 fered &7 519+ #2)

A) (iil) only A) F (i

B) (ii) only B) F=rer (ii)

C) (i) only C) = (i)

D) (ii) and (i) only D) =rer (ii) i (iil)

62) The Transfer Function of Low-Pass RL Filter is:  62) =r-am& RL fohee< =T a<0r %ot (ST=re herer) e

A FTATE?

A VOHE - 1 A Vour = 1
) V. T 1_jwR/L ) V.~ 1—jwR/L

B Vouf = 1 Vﬂut — 1
) Ve 14jwL/C Vie 1+jwL/C

C) Vouf- . '1 C) Vout o '1
Vim 1—jwR/C Vin 1—jwR/C

D Vout _ 1 Vout- - 1
)V, " 1+jwL/R Ve, 1+ jwL/R
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63) The form factor of pure sine waves of an AC 63) AC TTaT TWATE & 9[F ATSH AN FT FIH T T FT

power supply is 2?7

A) 11.1 A) 1.1
B) 0.11 B) 0.11
C) 1 C) 1
D) 1.11 D) 1.11

64) The efficiency of coal-fired thermal power plants 64) FTFAT AT TH AT (e HT FAAT H LT AT

may be improved by ST HFATS

A) reducing the load on the plant A) e 9T qIT T FH F4F

B) increasing quantity of coal burnt B) TF FTAT T ATAT FT TETFHT

C) using larger quantity of water C) 9T #¥ ATerF AT T ST F4F
D) increasing pressure of the steam D) AT AT &1 FETHT

65) In 1983, the central government appointed 65) AT TTHTT % gTr AHferea ¥ & e &= F ey

Sarkaria Commission to examine the relationship =T ferThia e % forw 1983 ¥ TLHTILAT AT T TS
between

ERINEIR I
A) the gram panchayat and the State government  A) ITH 9= 3T T ALHTL F A1
B) Zilla Panchayat and Central government B) TS&T 9=Taa 3T % a¥FTE F A1
C) any two State governments C) T Tt & AT & =
D) the State and Central government D) ¥% ¥ T=F GLHTL F A1+

66) Which of the following are the active elements in 66) FHIET ® & F17 & =g aeas |, T0HHT FJa99
an electrical network? 7

A) Voltage sources and generators A) T FTT FT TALET

B) Inductors and Capacitors B) T AT FUfHeT
C) Resistors C) ufaerer®
D) Transformers and Operational amplifiers D) STHHRHET T AT TR
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67) In data communications, which of the following 67) =T FFgH+ew #, F=fofas & & T
methods converts digital data in the form of a & RfREs =T T A F o d Rivea Ffrm

sequence of bits to a digital signal? H qiafad et 272

A) Convolution coding A) FAFTIAT FITT
B) Nonlinear encoding B) SiATeT{a U2
C) Block coding C) =i FITeT

D) Line coding D) A= FIT=ET

68) A 100 W, 330 V lamp is connected to a 330 V 68) T# 100 W, 330 V & #¥7 & 330 V AT T&TT %
supply. A 100 W, 110 V lamp is supplied with 110 V. = 2| 100 W, 110 V & ¥ & 110 V g S&1= #T 72

The ratio of their resistances is 3| S T T AT FT B2
A) 1 A) 1
B) 3 B) 3
C)9 C)9
D) 6 D) 6

69) Insulating materials used to protect conductors in 69) Zeifee® HIeH ® FEaeil (ATAF) *T AT % forw
electric motors are classified based on the ITANT FT ST ATAT THLATT ATHUT T FIET & TTTFHAT
maximum permissible temperature rise of the motor. FTHT ATIHTT i F AT IT a((Fd AT SATAT
Which of the following classes of insulating material | =TT § & FIF & SHATCIT ATHAT FT AT (92T HIET

can withstand the highest temperature rise in an  IFAW ATIHTH T FT TTHAT FLAFAT 272
electric motor?

A) Class A A) TTA
B) Class C B) v C
C)Class Y C)aTY
D) Class E D)=vTE
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70) For speed control of DC shunt motor, flux can be 70) DC ¢i HTex & T T H3 =T F2 o1, woram =i

varied by FH qETdd FRT ST qFAT 2?2
A) connecting a variable resistance in parallel with A) 9T & AT ATRET F AT AHAL H qfeaq=T
o TTAETEr T Foelde Fh
the shunt field winding ]
B) A= F AT e & i+ gfa<rg 1w
B) connecting a variable resistance in series with the FTE
armature

C) 9= & Ft ArE e " fordier § afteasr afaay
C) connecting a variable resistance in series with the T FAH FH

shunt field winding D) H=T § Fizod it 4&AT HI TAqT F%

D) changing the number of coils in armature

71) Which of the following is a group of passive 71) FEiad & & 19 AT Fae AT0a RATza 10 998

devices only? 7

A) Diode, Capacitor, Inductor, Transistor A) ETIATE, THTHE, ITF, T

B) Resistor, Capacitor, Inductor, Transistor B) sfa=rers, Termti, Ik, Tifoey
C) Transformer, Resistor, Capacitor, Inductor C) ZTTEHTH, TTaTer, HaTh, STF
D) Resistor, Capacitor, Inductor, FET D) gfaarerss, T, 35, FET

72) For arc extinction in circuit breakers, the 72) #fHe FFT Tad THAEAIT AT 97

resistance of the arc can be increased by SFALrer S8 AT ST qFAT 82

A) Increasing cross section area of the arc A) ATF F FIT TFAT &7 FT &

B) Shortening the arc length B) T T #ETS FT BT F4F

C) Splitting the arc into a number of smaller arcsin  C) 3T T &% G AT § faariorg #ea
series D) 3T & TH F7%

D) Heating the arc
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73) On the basis of their content and direction, the 73) 37 o ¥ fRE9W F MU I, AATT AfTa™ F
Directive Principles of State Policy enumerated in ST IV ® 3fearfaa Trea i = Ao rgiat 1 asfi=or

Part IV of the Indian Constitution are classifiedinto ~ FH# & FATATE?

A) Gandhian, Socialistic and Liberal intellectual A) TTefraTEY, ARTIEET AT I AT+ HFTT
principles B) USTETET, AFAT AT e oot frgia

B) Capitalistic, Democratic and  Secularistic

refraTet, e e srai = Frama

A afaFaTdy, TuTSETer @Y 3ET ST
AR

)
C)
principles D)
C) Gandhian, Economic and Democratic principles

D) Feministic, Socialistic and Liberal Political

principles

74) The minimum forward current that flows through
the Silicon Controlled Rectifier (SCR) to keep it in
forward conduction mode at the time of triggering is

known as

A) Direct current

B) Latching current
C) Saturation current

D) Holding current

75) The phenomenon by which receiving end voltage

74) =Faw A o gare S e =2 qwy afiw
HaTe® WiT ® @9 & [0 e Fgee JaewEy
(SCR) ¥ |T&AH & WATRT 2raT &, = % =7 & S

75) UF F&T ST ATH § g1 AT 61 i % 2,

rises above sending end voltage during lightly loaded S&t 9T9& Freedr (TEET Ure dieew), ANT Freedr

condition in a long transmission line is called

A) Corona effect
B) Ferranti effect
C) Roman effect

D) Skin effect

(AR U Froe) 7 ATAF FUT T8 ATAT § UH arga

T FT FFT ATAT 52
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76) What is the range of operating voltage in high 76) 1< 99 FaeT | AT FTeest T THT FT 22

tension cable?
A) Above 33 kV
B) 12-20 kV

C) 21-33 kV

D) 1-11 kV

A) 33 kV & =tfers
B) 12-20 kV

C) 21-33 kV
D) 1-11 kV

77) Which of the following types of motor is preferred 77) ¥t @< F o0 F5 8 & &5 w1 F Wex

for Reciprocating compressors?
A) Synchronous motor

B) Slip ring induction motor

C) DC series motor

D) Universal motor

78) Article 21A of the Constitution of India sought to

make free and compulsory education for all children
between 6-14 years a Fundamental Right.

Which of the following Constitutional amendment acts
inserted this article?

A) 86th Constitutional Amendment Act
B) 24th Constitutional Amendment Act
C) 94th Constitutional Amendment Act
D) 75th Constitutional Amendment Act

T ATATHEAT &1 ATAT 572

78) WA HIAe T F7 A=eg 21 A, 6-14 |1 % 1 *

Fr= oft argi  forw [ o i st o = witfers
ATEFTL FATH T /T FLAT 3

o & & oy St genas At g 7 =9 s =es 7
IBECRERINS

A) 86 T HaLTHF Hema Aty
B) 24 a7 HaeTHE Heorre At
C) 94 =1 FayTi=e Tomer Aty
D) 75 a7 saettas "staer gona aferFam

Page 24 of 34


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

51963_15 BATCHO1_JUNIOR ENGINEER ELECTRICAL_30JAN2019

79) What is the duration of the clock period for the 79) 16 MHz feeer argf=r % 8051 HTzH g @+ o1

machine cycle for 8051 microcontroller of 16 MHz Wefi= = ¥ FA1F TTEAS FT AT T ZET?
crystal frequency?

A) 0.75 ps A) 0.75 us

B) 0.06 ps B) 0.06 us

C) 1.085 ps C) 1.085 us

D) 0.60 ps D) 0.60 us

80) The relationship between number of turns of 80) T TTHITET STHHMAT F TTATHF ar=re T (N1) F

primary winding (N1) and number of turns of == # @war < fgdfras arEfET (N2) F == it "Jear+
secondary winding (N2) of an isolating transformeris: == #T @& 2:
A) N1> 2N>

A) N1> 2N,
B) Ni< N2 B) Ni< N
C) Ni= N2 C) Ni= N,
D) Ni> N, D) N¢> N>

81) Which of the motors is extensively used for 81) ¥, ZTH ST ZTAT H ToTToe® ¢ oFITH % (o107 3AH & FIT

electric traction in railways, trams and trolleys? T Wled ATIF &9 8 WF 0 1 87
A) DC series motor A) DC #i s HIzx

B) DC shunt motor B) DC ¢f= HTex

C) Single phase induction motor C) Tt %t =92 Hlex

D) Stepper motor D) =9 HIeT
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82) A 3-phase synchronous motor has 12 poles and 82) T 3-%sT ATl AIeTH 12 T & AT T5 440 V,

operates from a 440 V, 50 Hz supply. What is the 50 Hz 3 & ST AT 8 | HIeT T T F4T 372
speed of the motor?

A) 750 rpm A) 750 rpm
B) 1000 rpm B) 1000 rpm
C) 500 rpm C) 500 rpm
D) 1500 rpm D) 1500 rpm

83) A constant current of 3 A flows through a DC 83) 3 A # 5ad fa=[a &, DC afFe & waTtad il 2l
circuit. What is the number of electrons passing T e & ffthe & o+ Tore = yaTR2a 2iv?

through the circuit every minute?

A) 1.602 x 102" A) 1.602 x 102"

B) 1.12 x 10-19 B) 1.12 x 10-19

C) 1.602 x 10-1¢ C) 1.602 x 10-19

D) 1.12 x 1021 D) 1.12 x 1021

84) What is the relationship between base current I, 84) et F F(HA THT FATHRIT HaAq
emitter current [ and collector current lc in common F3< |s, TIHET F92 ¢ 3T FoAFL F92 Ic F S FT Hayl
emitter configuration of transistors? o H & T AT IATATZ?

A)le=ls+lo A)le=lg + lo

B)ls =l - Ie B)le =l - I

C)le=lo+ e C)le=lo + e

D)l =g - o D)le=1s -l
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85) A generating station supplies power through four
feeders. Maximum demand for the four feeders are
16 MW, 10 MW, 12 MW and 7 MW respectively. The
overall maximum demand on the generating station is
15 MW and the load factor is 60%. What are

a. the value of diversity factor

b. the number of units generated annually?
A) a) 2.25 and b) 78840 MWh

B) a) 3 and b) 78840 MWh

C) a) 3 and b) 12000 MWh

D) a) 2.25 and b) 12000 MWh

86) Electricity tariff in force is ¥ 160 per kVA of
maximum demand and 10 paise per unit consumed.
If the load factor is 50%, the approximate overall cost
per unit at a lagging power factor of 0.85 is

A) 14.30 paise
B) 10 paise

C) 20 paise

D) 4.30 paise

85) T faza IeaTed = o A HET F ALY qra7
AT FEAT Z1 AT HIeT F o yfersaw 7T w77 16
MW, 10 MW, 12 MW 3T 7 MW &1 FE9TH 9% T ATFaT
AT 15 MW 2 3T #1E Fae T 60% 21

a. TTEALHET T T HIT T

b. ATt o= e FT FeaT #7872

A) a) 2.25 T b) 78840 MWh
B) a) 3 =¥ b) 78840 MWh
C) a) 3 37 b)12000 MWh
D) a) 2.25 ¥ b)12000 MWh

86) ferzr e & Aga AfersFaw AT 9T fasretr 27160 =
afa KVA #1327 & i ui gie st @ad 9w 10 &5

T H @ 7, Tfe A T 50% 2 a7 0.85 qraw Herey
SRR 9T 9 A T ARTT JoF T Fhaar 872

A) 14.30 =T

B) 10 f=T

C) 20 =T

D) 4.30 =T

87) Which of the following devices is also called 87) ¥ & & {5 SUFTUIN FI TAA-AT STATS AT FBT ATAT

double-base diode? 7

A) Unijunction Transistor (UJT) A) TATSFIA gt UJT

B) Bipolar junction transistor (BJT) B) sSTEarerT st Ziforee< (BJT)
C) NMOS transistor C) NMOS zifsrex

D) CMOS transistor D) CMOS ziferex
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88) Under which jurisdiction of the Supreme Court of 88) WTIA & HaTg ~ATATAT & (e FATIAFTL % A3, AT

India can the President of India obtain legal opinion ¥ TTZa ATASIE HEd & {2 UL TaATg ~ATATAT T FTA
from the Supreme Court on an issue of public T 9T FT qFTE?

importance?

A) Advisory jurisdiction A) TATEHTT AATTAFTT
B) Writ jurisdiction B) UT=eT AATIEFTT

C) Original jurisdiction C) T &ATIFTT

D) Appellate jurisdiction D ERERENEERS

89) The minimum phase-neutral voltage at which 89) =[AAW Fe-~ge dleesl RE 9T FLAT FT ITET
corona starts to occur in power transmission lines is  ZTERTA ATAT § ZHT 4% 21AT & 39 FIT FgT JA1AT 572

called
A) Knee voltage A) Ht FreesT
B) Visual critical voltage B) fererer frfeaer ateest
C) Critical disruptive voltage C) forfeser Rmvutes Teesr
D) Flash voltage D) FA9T qToesT
90) A three-stage cascasded amplifier has: 90) T i =TT F FEhST THISA AT | T

a.first stage amplifier with voltage gain of 10 a)10 % FTeesT ATH F AT TZAT AL TFIATHAT
b. second stage amplifier having voltage gain of 100 b)100 F FTeEST ATH FAT FHAL AT F TFATHIAL
c.third stage amplifier with voltage gain of 1000 ¢)1000 % FTFET ATH F T FEIT FLIT TEIATHTAT
The effective voltage gain of the cascaded amplifier F&E TFIEATHIAT FT THTAT FTeesT ATH FIT ZET?

will be

A) 1000000 dB A) 1000000 dB
B) 1110 dB B) 1110 dB
C) 120 dB C) 120 dB

D) 60 dB D) 60 dB
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91) In practice, in atransformer having electrical 91) TR AT &, TF TARHL ored o= &
losses (iron losses and copper losses), no load (Fitg &t T aTH &ATY) BT 2, S FI5 off AT Fie VAT

current ol g S
A) lags the applied voltage by 90° A) ] 73 0 AT (TeTee dreest ) & 90 =9
B) leads the applied voltage by 90° e ST g
C) lags the applied voltage by less than 90° B) = 3 7T feareemea (TeeTeE AreesT ) & 90 f=ft
D) leads the applied voltage by less than 90° T ETATE

C) =Y 3 T fervaea (Teerree et ) 7 90 f=fr &

9 Mg AT e
D) & 3 T farsaTeaY (Terse areest ) & 90 =t

92) A 4.5 V microprocessor is connected to an 92) TF 4.5 \V T ATZATIEHT UF TE=eia 9 & S[=T
electrical circuit. The circuit has a resistor in series 3 8| 9T | TF Tfa<rer® LED & A7 #{s1# g1 LED
with a LED. Tum on voltage of the LED is 2.3 V. #ad Aqareew 2.3 V 8l g1 & % ufvar (\fFe) * fom
Assuming that the specified maximum operating fEe stferFaw ATRET F= 10 mA 2, a1 SFarerF =1

current for the circuit is 10 mA, what should be the HTET IAZrer FT ZET ATRT?
effective resistance of the resistor?

A) 120 Q A) 120 Q
B) 220 Q B) 220 Q
C) 240 Q C)240 Q
D) 130 Q D) 130 Q

93) In a power plant if the plant capacity is equal to 93) T Ta=[d =ie § FTT =i T &HAT ATAFHAT T %

the maximum demand then FIEE Al

A) Plant reserve capacity will be 50% A) wie sretera e war 50% gt
B) Plant reserve capacity will be zero B) Wi AT &7 HaT 4T BIT
C) Load factor will be unity C) #TE e FT HTH UF T

D) Load factor will be nearly 70% D) &I T TR 70% BT
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94) A strain gauge with a resistance of 250 Q 94) T T¥reAvT F FT 250 Q F ATALTE FT U F I
undergoes a change of 0.150 Q during a test. The 0.150 Q ¥ gfvaa« & AT 2| AFA(EA)1.5% 104 7

strainis 1.5 x 10+. Then the gauge factor is T IS FFeT FATE?
A) 0.5 A) 0.5

B) 4 B) 4

C) 0.25 C)0.25

D) 8 D) 8

95) A 746 kW, 8-pole, 3-phase, 50 Hz induction motor 95) T 746 kW, 8-4Tet, 3-%T 3T 50 Hz aTeT I70T Hiew
has a rotor resistance of 0.04 Q per phase and FT Tui% A 0.04 Q 9fF ¥ T 209 T T0F
standstill rotor reactance of 0.3 Q per phase. Fullload fa=Ta 0.3 Q 9f %57 81 9T @1 o7 720 rpm 9% I
torque is obtained at 720 rpm. What is the ratio of =T STAT &1 ATFAT & qUT AT TATLT T AT FT

maximum to full load torque? &7

A) 1.8 A) 1.8
B) 1.3 B) 1.3
C) 0.9 C) 0.9
D) 0.55 D) 0.55
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96) Which of the following options has the CORRECT 96) == f3T 10 Fo=i § | fors #aioe Laehmas
set of statements about Silicon Controlled Rectifiers (SCR) % T&el # A= eI ® & #19 AT fAFea A5 272

(SCR)? FI9 |; 7% UF we A Raea g

Statement I: It is a current controlled device F97 II: 77 U fBfeoft 3 Rarzw g

Statement II: It is a bidirectional current device Fa9l: T7 e e g o A strar e

Statement llI: It is triggered by a Gate signal FAT IV: THFHT TR 37 o=@ a1 iR ST &

Statement IV: It can be used for high power or T =T ST aFaT 2
industrial applications
A) Statement || TRUE, Statement I: TRUE, A) &9 |: @&l, 749 Il T2, F47 ll: 72T, F47 V: a9
Statement lll: TRUE, Statement IV: FALSE B) FAT|: e, F4 II: Ter, T : T, FATIV: T2
)
)

B) Statement I: FALSE, Statement I: FALSE, C)=ga|: &, %9 II: 7o, 4 l: T27, FI7IV: T8

Statement lll: TRUE, Statement IV: TRUE D) % |- “@ T Il T, Fo H@ FT V-
C) Statement I: TRUE, Statement I: FALSE, T

Statement lll: TRUE, Statement IV: TRUE

D) Statement |1 TRUE, Statement Il FALSE,
Statement lll: TRUE, Statement IV: FALSE

97) The circuit given below represents 97) == =T =T Athe F4T Feriar 872
C C
1 I
il | il
R R
Vun i | Vlﬂ 1
Vo Vo
A) Subtractor A) TR
B) Integrator B) sfevex
C) Adder C)usx
D) Differentiator D) fRwirefiuex
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98) After the execution of following program in 8051 98) 8051

AeAEce # Felfea s *

microcontroller, the content in the accumulator will be TR ¥ ATE, AF[AACT | Fee FT ZET?

MOV R5, # 2AH
MOV R7, # C3H
MOV A, # R5
ADD A, # R7
ADD A, #10H
ADD A, #00H
A) 00H

B) EDH

C) 10H

D) FDH

99) Frustum of a right circular cone means

A) total surface area, including the lateral surface
area and the surface area of the base

B) portion of the cone which remains after the cone's
upper part has been cut off by a plane parallel to

its base

C) portion of the cone which remains after the cone's
upper part has been cut off by a plane inclined to

its base

D) portion of the cone which remains after the cone
has been cut into two parts by a plane
perpendicular to its base

MOV RS, # 2AH
MOV R7,# C3H
MOV A # RS
ADDA, #R7
ADD A, #10H
ADD A, #00H

99) T¥= FT A F feerer 7 ok FATE?
A) aT5d Tg & 3T AT T TA8 & Giad 71 9d8 &7
B) oI &7 9% (&0 ST UF =1 & 97F F ZaT AT F1 a6

T THTHATAL e F qTE J=2aqT 5

C) 97% FT ¢ EEHT ST UF @I | 9% & FO AT &1 a9

H FT gl e % A8 I9aqT 8

D) 9i% T a8 e T, 39 a7 | ¥ a9 UF =T o 4F

T T AT | FTe & 918 99971 8
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100) For generating stations, which of the following
set of statements about the daily load curve is
CORRECT?

Statement |: The area under the daily load curve
gives the number of units generated on a particular
day

Statement Il The area under the daily load curve
multiplied by the total number of hours gives the
the that
Statement lll: The ratio of the total area under the load

average load on station in day

curve to the total area of the minimum-area rectangle

enveloping the load curve gives the load factor

A) Statement | FALSE, Statement I TRUE,
Statement lll: FALSE

B) Statement I FALSE, Statement II: FALSE,
Statement lll: TRUE

C) Statement I: TRUE, Statement II: FALSE,
Statement lll: TRUE

D) Statement | TRUE, Statement I: TRUE,

Statement lll: TRUE

100) ST &= F4  F& # MHCET § § T4 F FI97
TETT 82

FAT: AT S 4 F qgd AAFA UF 4 § IeqTiad e
T H=ATIATE

FAT |I: SHT TS FA F T2 ST F =Sl 41 T G H
T F7F 3 (& FT T I {Eq A a1 g

FATIl: TS FF F T2T ATFA T IH IATH-G T AT AT
F T AATA T Aqar, o 7g AiEa g, e e
Z

A) FA7 | T, FAT ;. TET, FA9 Ml ToTT

B) I I: et A9 ;. e, FA I Fl’@'
C) ®# |: @&T, FA |I: 7o, F4 |ll: T&r
D) ®a |: @&t , F#4= |l: |ar, FA7 Il 2T

Page 33 of 34


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2H

51963_15

GET IT ON
Google Play

BATCHO1_JUNIOR ENGINEER ELECTRICAL_30JAN2019

Question Paper No:

51963_15

Answer Keys

1. C 31.
2. D 32
3. A 33
4. B 34
5 A 35
6. C 36.
7. b 37.
8. D 38
9. C 39
10.C 40.
11.D 41.
12. C 42.
13. B 43.
14.B 44.
15. B 45.
16. A 46.
17.D 47.
18. C 48.
19. C 49.
20. A 50.
21.D 51.
22.B 52
23. A 53
24.D 54.
25.B 55.
26.C 56.
27.D 57.
28.D 58.
29. A 59
30.C 60.

B
A

W >» O W U » W W » W W O O » W » O W W » O b Ww O W >» >» O

61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
7/l
72
73.
74.
75.
76.
77.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.

O o » » » w » U O » O » » W OO W W >» OO0 O W O O » U OO OO0

91.
92.
93.
94.
95.
96.
97.
98.
99.
100.

O @ U w O » W w w O

“Page 34 of 34


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




